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1 TS [ri] 4S -1 50 x 4S -1 50

2 it x 4S +2 480 x 4S +2 -480

3 panyiie] [£3] 4S +2 480 [£3] 4S +2 480
4 E=] [£3] 3S +1 170 x 3NT +1 -630 13

5 it x 2C +1 110 [ri] 2S -2 100 5
6 panyiie] [ri] 5C = 600 [£3] 5Dx -3 -500

7 E=] x 4Sx -2 500 x 4Sx -1 200 7

8 TS 1t 3NT = 400 1t 3NT +1 430 1
9 panyiie] 1t 3S +1 170 1t 4S = 420 6
10 | WHB [£3] INT +2 150 1t 4S = 620 10
11 | W [ri] INT -1 50 x 2H = -110 4
12 | Edb [ri] INT = -90 x INT +1 -120 1

DATUM#it S
mIEBE ARLES r: 5 ] 25 | 25
EREHE/XISR 5 EE/F=E 3 it 25 | 25
I VACIAVEE:: -3 oK EE ZE/{a){E )6 -5 V.P. 10 10
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1 TS x 3NT = -400 [ri] 4S = -420 1
2 it x 4S +2 -480 [ri] 4S +2 -480
3 ,?ﬁ [£3] 4S +2 480 [£3] 4S +2 480
4 E=] x 3NT +1 -630 [ri] 3D = -110 11
5 it [ri] 3S -2 100 x 3C = -110 5
6 ,?ﬁ x 4S +1 -650 [£3] 7DXx -5 -1100 10
7 PE=] 1t 5C = 600 x 4Sx -2 500 3
8 TS [£3] 4S +1 450 [£3] 4S = 420 1
9 |FRALl & 3S +2 200 it 3S +1 170 1
10 | \WHB [£3] 3NT +1 630 [£3] 2S +2 170 10
11 | X 1t INT -2 -100 1t INT = 90 5
12 | Edb [£3] 1H +1 110 [ri] 2C = -90 5
DATUMiT T
BARR(E 3Rl Y. X+ 36 | 16
=REN/EE -1 BB/ ERE -21 ait 36 | 16
AIERATEE 21 H{S37/hBh% 1 V.P. 15.58 | 4.42
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1 TS x 4S -1 50 x 3NT = -400 10
2 it [ri] 6NT = -990 x 4S +2 -480 11
3 panyiie] [£3] 4S +2 480 [£3] 4S +2 480
4 PWE=] [ri] 4H -2 200 1t 3S +1 170 1
5 it 1t INT +1 120 x 3C +1 -130 6
6 panyiic] x 6S -1 100 [£3] 5Dx -3 -500 12
7 PWE=] [£3] 4H +1 650 x 4Sx -1 200 10
8 TS [£3] 3NT = 400 [£3] 3NT = 400
9 |FEAIL db 3S +2 200 it 3S +1 170 1
10 | \WHB [£3] 3S +1 170 [£3] INT +2 150 1
11 | X x 2H = -110 1t INT = 90 5
12 |t & 1C | +1 | -90 /g | INT | +2 | -150 2
DATUM#it A
SRMNER Py Sk y. S+ ] 43 | 16
(EfERA/EPATEE 14 $MELD/AIEEN,  -11 &it a3 | 16
B/ DME /SRR 11 2hte/RRIR= -14 V.P. 16.91 | 3.00
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1 TS x 4S -1 50 x 4S -1 50

2 it x 6S -1 50 x 5S +1 -480 11
3 panyiie] 1t 4S +2 480 [£3] 6S = 980 11
4 WE=] [ri] INT +3 -180 x 3NT +1 -630 10
5 it x 3C = -110 1t 2NT -1 -100

6 panyiie] x 58S = -650 [£3] 5Dx -2 -300 8
7 E=] x 4Sx -1 200 1t 4H = 620 9
8 TS 1t 3NT = 400 1t 3NT = 400

9 ,?ﬁ 1t 4S = 420 1t 4S = 420
10 | WHB [£3] 2S +2 170 [£3] 4S -1 -100 7
11 | W 1t INT = 90 [ri] 2C = -90 5
12 |ggdl & | aNT | +1 | 120 | 7 | INT | +1 | -120

DATUMiT T
I'&5F8 BRigki Y. X+ 33 | 28

oK\ = /3R RN 6 RRIERSEHE 7 Aait 33 28

ma/=RE -7 AZAVEL-SN -6 V.P. 11.7 | 8.3
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1 TS x 3S = -140 x 4S -1 50 5
2 it [ri] 3NT +3 -490 x 6S = -980 10
3 ,?ﬁ [£3] 4S +1 450 [£3] 4S +2 480 1
4 E=] 1t 4Sx = 790 [£3] 3S +1 170 12
5 it x 2C +1 -110 [ri] 2S -1 50
6 panyiie] x 58S = -650 [£3] 5Dx -3 -500
7 E=] [£3] 4H = 620 x 4Sx -2 500 3
8 TS 1t 3NT +1 430 [£3] 4S +1 450 1
9 panyiie] 1t 4Sx -1 -100 1t 4S = 420 11
10 | \WHB [£3] 2S +2 170 [£3] INT +2 150 1
11 | YW 1t INT -3 -150 1t INT = 90 6
12 | Edb [ri] INTXx | +1 -280 [£3] 2H -1 -100 5
DATUMiT T
IRz I MLTHR Y. X+ 26 | 37
SN e LAY paEl -9 SR1IL/XI 10 ait 26 | 37
XIUBF /PR HE -10 S E/MERK 9 V.P. 6.55 | 13.45




